Marlborough Primary

Class 2M
Academy

Thursday 2lst

Home Learning 1 ”

Daily non-neqotiohles:

1) Reading - 30 minutes
Group |

o Phonics sounds

o Spell the words

e Read to an adult
Grouwp 2:

e Phonics sounds

Spell the words
Read to an adult

2) Spelling - 20 minutes

3)PE. - Cosmic Kids

—

First person

A diary entry needs to sound like it is heing
written hy a person who is talking ahb.out
themselves. This type of writing is colled

Jirst person’.

Watch the wvideo and complete the online
activities.
Challenge- Write sentences using first person
vocohbulary: I, me, we, us

Count moneiy- notes and coins

Watch the wvideo, complete the Worksheel

activities and check YOI

Answers
ANAWRTA.

Neil Armstrong is famous for heing the first
human to walk on the Moon. He was a space
explorer. Watch the video and write about what
yYou have learned.

You can uwse the word mat to thp A OAL.



https://schools.ruthmiskin.com/training/view/4Bi71tXg/fReUdZJU
https://schools.ruthmiskin.com/training/view/BSqF0WsZ/Zeh1yNxK
https://www.oxfordowl.co.uk/for-home/find-a-book/library-page/
https://schools.ruthmiskin.com/training/view/uPtFyAfV/toW16cZP
https://schools.ruthmiskin.com/training/view/w1DK4oeb/o13xrg4W
https://www.oxfordowl.co.uk/for-home/find-a-book/library-page/
https://cosmickids.com/watch/
https://www.bbc.co.uk/bitesize/topics/zrqqtfr/articles/zxdhsg8
https://vimeo.com/471307831
https://resources.whiterosemaths.com/wp-content/uploads/2019/09/Y2-Autumn-Block-3-WO3-Count-money-notes-and-coins-2019-1.pdf
https://resources.whiterosemaths.com/wp-content/uploads/2019/09/Y2-Autumn-Block-3-ANS3-Count-money-notes-and-coins-2019-1.pdf
https://www.bbc.co.uk/teach/class-clips-video/ks2-neil-armstrong/zr9tjhv

Count money - notes and coins [\Moths/3 |

There is £ and p.

WO

There is £

b)

d)




e Complete the additions

a) £5 + £1 +50p + 5p=¢£

b) £10 + £1 + 2p + 1p = £

) £ and

d) £5+20p + 2p + £1 = £

o Fill in the gaps to make the statements correct. Q

a) £ + £1 + 50p +

- )

and p

and p

p = £50 + £20 + 50p + 2p

and p

10p = £21 and p

b) £10 + £2 + 20p +

p+2p=£12and 72p

o £5+ p=£5+5p+20p + 50p + 2p

o Ron has £18 and 63p in his money box. @

He empties the money onto the table, but
some falls on the floor.

How much money falls on the floor?

£ and p

What coins or notes could they be? @

o Annie has some coins in her hand. @

Amir has some notes in his hand.
Who has more money? Circle your answer.

Annie Amir can't tell

How do you know? @



1st Person

I made a new potion today and
. when we drank it, it turned us into
animals. i







Neil Armstrong

engineer first : wstonaut

Apolloc  space flight

moon landing orbit - ~ Neil Armstrong




